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Topic:- Physics

1)
A resistor of 10 chm and an ideal inductor of 100mH are connected in series with a de source of 20 volt.
Find the current in the circuit. / 10 3# &7 U 9ioEIE JUT 100mH &7 TF .':ITIT_{QT Wb, 20

diee drer feve &RT Wid & A@ell # 3 §U & U9y 7 &R AT B

1.20A
2.05A
3.2A

4.02A

Correct Answer :-

e 2A

2)
The following circuit consists of a NOR gate and a NOT gate as shown in the figure, the equivalent

circuit is of an: / TeAfeIf@d afde F U& NOR 1€ Td U NOT 3T &7 egmr m &
gAFE Tl UF FT &

e D] -

1. NAND gate / NAND 7€

2. AND gate / AND 7@

3. OR gate / OR 7@
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4. NOR gate / NOR 7€

Correct Answer :-

e OR gate/ ORTC

3) A radioactive substance decays to 1/16™ of its initial mass in 40 days. The half-life of the substance
in days is: / T A uerd o1 e s WRAE S F 1/167 UFT A 40 T A € e
31 verd &1 fat 7 srefsfta 8:

1. 10
2.25
3.20

4.5

Correct Answer :-

4) A p-n photodiode is made of a material with a band gap of 0.2 eV. The minimum frequency of the
radiation that can be absorbed by the material is nearly: / €& p-n BicIsTas Udh tIET?f gIRT 0.2 eV
F 33 3favTa A 9471 8 | fafdur &t =g=aw smgftr ot uerd grRT sra=nfya &t o gwdl 8, 98
I E:

1.10x 10'* Hz
2.1x 10" Hz
3.20x 10'% Hz
4.5x 10" Hz
Correct Answer :-

e 5x10%Hz

5) In photoelectric effect on metals, an increase in the frequency of incident radiation increases: /

eTgeit W ypTRI fagaq wuta ®, smufaa fafeszor o1 smafty g5 9f S, swat g st @
1. Velocity of emitted electrons / BT\‘T%TH 3@7@'\@ BT

2. Work function of the metal / YT T BB

3. Rate of emission / STl &1 G2

4. Threshold energy / a??‘ﬁ ol

Correct Answer :-

» Velocity of emitted electrons / Ifoid 5@1(11;'1\[ HTAT
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6) Which of the following is TRUE for a series combination of resistors? / uferien & Aol Tae &

fou Fafafea A a HTaa @

1. Voltage remains same only/ﬁlﬁ? diees! A e dl %

2. Current remains same only / 551 f&gqq &RT GH &< &

3. Both current and voltage remains same / ﬁ_g'{q?[ YRT U4 dIees aH! T 38 §
4. Neither current nor voltage remains same / - g}f ﬁ_g{qﬂ YRT TG AT éT Alees JHH Qsa %

Correct Answer :-

 Current remains same only / Ryt ﬁ_g'ﬁ:l?[ &RT GH I8 8

7) Which one of the following processes/devices uses solar energy and converts it to chemical energy?

%mﬁﬁﬁﬁm/w,ﬁ?mﬁmwm%aﬁ?@mﬁwmﬁmw

1. Photosynthesis / UPTRI BEGNIYE
2. Solar pond / IR ard

3. Solar heater / §R dTT®H

4. Solar cells / TR I

Correct Answer :-

« Photosynthesis / BT TITTT

8) Which one of the following molecules shows pure rotational spectra? /= fear mar CaEk:| 3]

[ YOI Wt UeRid a1 82

1. N,
2. CO,
3.H,

4. CO

Correct Answer :-

9) Which one of the following can be used to produce a propagating electromagnetic wave? /

fFrafafeq e & @ $19 ve yafta fagaq Jaeia a=v1 & Iare & ugad giar 82
1. An accelerating charge / Tdh aRd A
2. A charge less particle / Udh 3TARIG HUl
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3. A charge moving at uniform velocity / TR CUERIGNINEEIEE]

4. A stationary charge / ¥/ SIERY

Correct Answer :-

» An accelerating charge / Uh aRd 3Ta

10) Two wires made of the same material and having the same volume are connected in series. Their
cross sectional areas are in the ratio 1:3. If the thicker wire has a resistance of 20, then the
equivalent resistance of the series combination is: / FHIT YTq Td HH AT ¥ 94 gl aR o o
TS B 1 3P U P AP, 1:3 F Jurd A 21 afe 3R Wi ar &1 ufavie 200 B, @t Joft
TS T ged UfoRiY 3:

1. 180 ©
2.200 Q
3.40 Q

4.220Q

Correct Answer :-
e 200Q

11) Two charges -4 C and +4 C are placed at 10 cm apart. The potential at the center of the line
joining two charges is: / &I SITART -4C TF +4C 10 Tt g8 W= @ &1 ST M= &1 Frem areft
Y@ P dg R g e:

1.2V

2.4V

3. Zero / R[U

4.2V

Correct Answer :-

12) Two particles in air are separated by a certain distance ‘R’. Their masses are M; and M, and

they have equal and similar charges ‘Q’. If the resultant force acting among them is zero, then the
value of Q is: / T § &I BV TH A3d g8 R R &1 39 SHAM M, Td M, TUT R JHM TH
T A Q B1 I 37 Hog wrRa R sa y 8, o dTHA #:

1. \(4ngyGM,M,)
2. 1/(4mgp) (GM{M,)

3. 41[80GM1M2


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

4. 11 (4neg)(GMM,)

Correct Answer :-
. \/(47580GM 1 Mz)

13) A diffraction grating is an arrangement of large number of equidistant and parallel i
TS faad=1 Afew 9t T § AR YT THHIGR B TP HIRIT gl 3|

1. lines / Uil

2. partitions / fayret

3. segments | Gl

4, ints/i’@ |§§§|

Correct Answer :-

. slits /G €§§|

14) A device used to measure the potential difference across any two points in an electric circuit is
known as: / U fagaa ufvay # farsdt ot Gt fagsit w favaiar ara= & ferg Suai fasar &= aren
T %:

1. Voltmeter / AiceHIET
2. Galvanometer / ﬁﬁ:ﬁtﬂﬂ
3. Generator / SN EY

4, Ammeter / QI“R

Correct Answer :-

« Voltmeter / dlceHIeR

15) For a constructive interference to take place between two monochromatic light waves of
wavelength ‘A, the path difference should be: / 3T %?If AP ﬁ mvﬁwr!a GERIIK 2T ) Th
TS Afdeeur & forg, vy sfar g 71z e:

1. 2n-1)r/2
2. (2n-1)r/ 4
3. 2n+1A/2

4. NA

Correct Answer :-
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16) An electric bulb of 100 watts when kept on for 12 hours will consume an energy of: / 100 die

1T U fareiell 371 99, 12 Hel & fIT I v@q IR 3a+ Soll &1 @ud H3:
1. 1.4 kWh

2. 1kWh

3. 1.2 kWh

4. 0.12 kWh

Correct Answer :-

17) The ratio of the radii of the nuclei ;3AI*7 and 5,Te!” is: / {3A1?7 Td 53Te!? et ot Brear
BT 3T &

1. 13:52

2.14:73

3.27:125

4, 3:5

Correct Answer :-

18) The current through a 1 mH coil drops from 5 A to 3 A in 1073s. The emf developed in the coil is:
/TP 1 mH TSl A TORA Tl YRT 1078 T 54 I 3A T el 81 Feal | fawRia fagaa
PG T (emf) &

1.2V

2.8V
3.2x10°V
4.8x10°V

Correct Answer :-
« 2V

19) The liquid drop model of the nucleus can explain: / TS H15d 9 Hisd W TS HY
HHdT &

1. Gamma decay / TTTHI &
2. Nuclear stability / BIREARATIEGII
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3. Nuclear fission / ATH® Y [AG S
4. Nuclear fusion / ATTHDH T T

Correct Answer :-

« Nuclear fission / ATHD T faG S

20) The critical angle of light passing from glass to air is minimum for: / CaCE: CIPGED ST aret

YT BT Hifde HIv1 f= & e g=aw giar e:
1. Green / Bl
2. Red / Al

3. Yellow / Uil
4, Violet / a"'l:ﬁ

Correct Answer :-

« Violet / ST

21) The horizontal component of earth’s magnetic field is zero at: / YT IR q&ﬂ & W PR

QoS Tes LA gl o:

1. 45° Latitude / 45° 3{&IT=T

2. The geographic poles / Hifaw gd

3. The magnetic equator / W HFW

4. The magnetic poles / W gd

Correct Answer :-

« The magnetic poles / IDIT d

22) The focal length of a convex lens of glass of refractive index 1.5 is 2 cm. The focal length of the
lens when immersed in a liquid of refractive index 1.25 will be: / SUFHID 1.5 1A Hid & U 3dd
A BT HIGUH 2 A B 1 9 T ST 1.25 AT T avd W GaIAT ST, 99 A BT
BIHAIHT G

1.2.5cm/2.5 9HT
2.5cm/ 5 GHT
3. lcm/lﬁ
4. 4cm/ 4T

Correct Answer :-

. SCm/SW
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23) The displacement current density across a parallel plate air capacitor which is being charged at
the rate of 10'2 V/m/s is (g, = 8.85 x 10"'2 C2 N'! m2): / HHiaR We arg |1, R 10'2v/my/s B

R ATAfRra fpar wIraT 8, TR FARITI 4RT ¥ FH: (g9 = 8.85 x 10712 C2 N! m2
1. Zero /Y

2. 8.85 A/m?
3. 1012 A/m?
4.1012 pA/m?

Correct Answer :-

24) The approximation that a diatomic molecule can execute rotations and vibrations independently

is know%n as: / T8 AfAdpe-1 ot f f§ R 3] guiv ok Hu+ 3t Wada v A fHerfea &=
Hhdl &:

1. Born approximation ) &1 afaipe

2. Paul’s approximation /m Tfaded

3. Franck-Condon principle ) I - Bl (ATH

4. Born-Oppenheimer approximation /aﬁ-&hﬁw gfaded

Correct Answer :-

« Born-Oppenheimer approximation / a‘ﬁeﬁﬁw gfadhed

25) The variation of magnetic field ‘B’ due to a long straight current carrying wire with distance ‘r’
from the wire is represented by the curves given below. Select the correct curve. / YRTdg+ GRS
TS dd WY TR S SR a1 & «B” Bt foarar ford aR A IqD1 g v’ &I - a6 gRT
SITAT 741 § | TE q56 BT a4 B |
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Correct Answer :-

26) The observation of colors in soap film are due to: / HIg P AT & fr&rur DI PRUT ﬁ?ﬂ %:
1. Polarization / §dUl

2. Dispersion / gfarur

3. Diffraction / fdad

4. Interference / STTHRUT

Correct Answer :-

« Interference / TADHIUT

27) The angle of incidence for a ray of light at a refracting surface of a prism is 45°. The angle of
prism is 60°. If the ray suffers minimum deviation through the prism, then the angle of minimum

deviation is: / T fiIoH & SUad® U6 TR ST $1 T {01 BT MU= HIv 450 3| s &1
PIT 60° 21 TfE frow & wreaw A fpvr 1 YAaw fage giar €, a9 =gAaw faga- s g:

1. 30°
2. 60°

3. 45°
4. 90°

Correct Answer :-

e 30°
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28) A 0.5 m metallic rod is being revolved in a vertical plane about one of its ends with an angular

velocity of 5 rad/s. The earth’s horizontal magnetic field is 0.2 x 10" T. The emf induced across the

ends of the rod will be: /WO.SﬁWﬁEﬁW&ﬁWWﬁW@QWWSW/
A & Piviia 37 A gaTan w16t 8 1 gt w1 Afas geaig 87 0.2 x 104 T 31 WS F IR W ARa
STHTE (figad gty &) &:

1. 50 mV
2.5mV
3.12.5uV

4,25 0V

Correct Answer :-

29) In AND gate, the output Y is 1 when the inputs A and B are: / “AND” e ﬁ, Y a'%ﬁ'-'a

(3T3¢YC) 1 BT B, 5a fa=1 (39Ye) ATI B A &
1. A=1, B=0
2. A=1, B=1
3. A=0, B=0

4. A=0, B=1

Correct Answer :-

30) A convex mirror has a radius of curvature of 6.0 m. If an object is placed at a distance of 9 cm
from it, then it will produce a magnification of: / Tdh Il ETI'UT P aepdl Asa1 6.0 HY %I TP d¥d
I 9 T P g IR It 15 71 I8 i A Iew e

1. 0.25
2.0.15
3.0.35

4. 0.45

Correct Answer :-

« 0.25

31) A piece of wire having a resistance ‘R’ is cut into six equal parts. These are then connected in parallel
to get an equivalent resistance of ‘R!’. The ratio of RI/Ris: / R UfeRIY aTel dR & U m Cd| B
ISR HFT | HTel ™11 {6 §% 'R’ & I8 UiRIY U 1 & g gamiar sitsT ar1 99 R1
/R BT 3JUTd NIT:
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4, 38

Correct Answer :-

32) If the kinetic energy of the particle having wave length ¢ 1’ is increased to 25 times its previous
value, then the change in de-Broglie wavelength of the particle is: / "A' TR3T %ﬂf ara Uh HhU[ &1 fas
Sl § afe gd Y a1 A 25 T B i DY 74, 9 Hor $ S-sivent aieed A ufvada @:

1.04 A
2.025A
3.0.1A

4.0.8\

Correct Answer :-

e 0.8

33) The velocity of light in a medium is 1.5 x 108 m/s. The critical angle of the medium for a ray

going from the medium into air is: /wmumﬁuﬁmﬂa‘n 1.5x 108 'l-ﬂ/ﬁal mwwﬁamﬁ
STt T fhRor & A1y &1 wifad BT g:

1. 30°
2. 60°
3. 45°

4. 90°

Correct Answer :-
o 30°

Topic:- Chemistry
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1) Identify the compound B in the given reaction. / &1 95 HiEGhar 7 dAiEE 5 & TgI=0|

HyC——CH—CH,

| HHM EMnQ. (s ;1 Spdalime = B
s
Na
i
i
1.
OH
=,
5
2.
3.
COOH
i
o
4,

Correct Answer :-

2)
An alkyl halide with molecular formula CsH;;Br on dehvdrohalogenation gave twoisomeric alkenes “A°
and “B” with molecular formula C;H;;. On reductive ozonolysis, ‘A” and ‘B’ gave four compounds

CH:;COCH;, CH;CHO, HCHO and (CH;);CHCHO. The alkyl halide is: / 3T0Tfdie & CsHyBrah U
Todhlel Gonlgs = Tagissicdlicla (SET5gloelel=12l) W AT0Tde A CsHy & a1 THAETdr
Teo ‘A" 3R ‘B e fouwesma AeEesEy ) ‘A’ #R ‘B o Or s
CH:COCH:, CH;CHO, HCHO 3 (CH;),CHCHO [¢31| Tedisd fellss &

1. 1-Bromo butane / 1-SA! @il?:f
2. 2-Bromo butane / 2-SIHI 5‘1%:[
3. 2-Bromo-3-methyl butane / 2—@'@[—3—&% 5‘1%:[
4. 2-Bromo-2-methyl butane / 2-sH1-2-TuEd 5’1%?


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Correct Answer :-

« 2-Bromo-3-methyl butane / 2-STH1-3-fTSd A

3)

What will be the equilibrium constant of the cell in which the following reaction takes place at

298 K?/ o & aFg [N & g, e e wfEfear 298 K W & adt 87
(R=8314TK-'mol-! ) -2Fe*(aqg) +21-(ag) = 2Fe?* (aq) + La(s) E°=0236V
1. Antilog 9.7826 / GSIAINT 9.7826
2. Antilog —9.7826 / TSI —9.7826
3. Antilog — 7.9826 / TCIANT — 7.9826
4. Antilog 7.9826 / UCTdINT 7.9826

Correct Answer :-

« Antilog 7.9826 / Gl 7.9826

4)
What would be the ratio between K; and K. for the given reaction? / ar E‘Té' Hf#fRar & e K, HT
K.& o & 3=91d gl

CaHyg + 2Hag > CaHgg

o
=

;, (RTY
2.1.0

3. RT)F
4. (RT)?

Correct Answer :-

5) Sodium rosinate is generally added in the soap because it: / FIf&aH Iei-e, AT H
HIHTI: STAT ST § TP I8 |

1. Produces rich lather / HRQR SITT IdIfed HRAT 8
2. Gives antiseptic property / Qﬂ@m TUT Yal— odl %
3. Prevents rapid drying of soap / Tg- B! doll I I I Ahdl g
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4. Acts as a perfume / Uch URIRJH I dig d?ltf hdl %

Correct Answer :-

« Produces rich lather / HRUR ST IdTfed HRl §

6) If an endothermic reaction is found to have +ve entropy change, then the reaction will be:

1 afe T St sifforar d +ve Terdt uftad= urar wan, ot srfuferan Uil
1. Possible only at low temperature / $Had Y 1Y TR HHd

2. Possible at any temperature / fodl 1t 910 IR Gua

3. Possible at high temperature / 3 dU TR JHg

4. Not possible at any temperature / foa! 4l 910 IR T4a g

Correct Answer :-

« Possible at high temperature / 3= dlJ R IHI

7) Which one of the following is present in the chain structure of silicate? | Raferdre ot gl

YT # fFEfafEd & @ o149 91 U Sufeyd giar 82
1.(Si0527)

2. (Si,05%7)

3. Si044

4. Si,0,6~

Correct Answer :-

8) The AT/CG ratio in human being is: / TJ® & AT/CG 3(JUTd g1 3:
1.0.39
2.1.52
3.1.25
4.0.93

Correct Answer :-

- 1.52
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9) The sequence of bases on RNA molecule, synthesized on the GCATA strand of DNA is: /
DNA & GCATA IUd UR TRANE, RNA 30 TR &RY (§9Y) $THH &

1. AYCGC
2. CGTAT
3. TACGC

4. CGUAU

Correct Answer :-

« CGUAU

10) If the values of standard reduction potential increases in going down the series, then the
character of metal ./ afe AT =y faua & 9, §Ear | i 91 W 9ed
gt urg o1 A&7 |

1. electronegative, does not change / Ul ﬁ‘g?ﬁ @ﬁa@ﬁﬁﬁa), gfeafdd :@@?ﬂ
2. electronegative, decreases / Ul ﬁgﬂﬁ (s@laijﬁﬁﬁa), gedi g

3. electropositive, increases / Y ﬁgqﬁ @ﬁﬁ@ﬂﬁﬁﬁ), aa_(ﬂ%

4. electropositive, decreases / Wﬁgﬂﬂ @ﬁa@ﬂﬁﬁm, gedi g

Correct Answer :-

* electropositive, decreases / Wﬁgﬂﬂ (E@Ia_@tm\;ﬁﬁa), gedi g

11) If the temperature coefficient for hydrolysis of ester by NaOH is 2, then the activation energy for
ten degree rise of temperature from 298K is: / af¢ NaOH §RT T & Sidsiudge- & e arqy=
TUTI 2 B, @) 298K T a0 & &3 f$3 ot gfe & o afspaur =it g

1. 42.74k}/mol / 42.74 TH QIS ATH ST
2. 52.89kJ/mol / 52.89 fdhallSal/ATHS{]
3. 5.28kJ/mol / 5.28 fHaIS@ATHSI
4. 4.27kl/mol / 4.27 fHaAS@ AT

Correct Answer :-

« 52.89kJ/mol / 52.89 farcle[cl/ATH 3]

12) Which of the following is NOT a dipolar ion? /ﬁ?ﬁl’@ﬁ AA ST %&Fﬂ KD T-Iﬁ%"
1. p-Aminobenzoic acid / T-THAIE~IS® 3/
2. Aminoacetic acid / TfERIfe® 3
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3. p-Sulfanilic acid | - IBTTS T 3
4. Alanine / Qaqléq

Correct Answer :-

« p-Aminobenzoic acid / G-TISISS 3T

13) Which one of the following compounds is diamagnetic in nature? / g 9 ¥ o9 a1 9ifre
wofa § ufagasia g2
27
1. [CU.C14]
2. [Ni(CN), 1>~
3. [Fe(CN)g]>~

4. [NiCl, %~

Correct Answer :-
o [Ni(CN) 1%

14) Which one of the following 4 pairs of Z values represent “p block” elements? / CiE| ﬂﬁﬁ Z ur=i

F 4T A Y, PT IS "p AP dedl B USRfd T8I a1 g2
1. 38, 55
2. 47,39
3. 60,71

4.32,53

Correct Answer :-

15) A solution of ‘X’ (molar mass 60 g mol'l) in water boils at 100.18°C at the atmospheric pressure.

If K¢ and K, for water are 1.86 and 0.52 K kg mol’! respectively, then the freezing point of the

solution is: / T H X (UTH (U] HTR 60 ¢ mol!) FT faaa, IRIHSHI 1T U 100.18 °C TR U |
I9adT 31 9fe Uit & e K, 3R K, F9=1:1.86 30 0.52 K kg mol'! §, a1 faera= &1 fRwis fig @:

1. -6.54 °C
2.-0.654 °C
3.65.4°C

4, +0.654 °C
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Correct Answer :-
e -0.654°C

16) While extracting copper from its sulphide ore, the metal is finally obtained by the reduction of

Cu,0 with: / Tid (PIUR) Pt SUD AFPIZS AP A FAHTAA & SR, Cu,0 F TAIHI & GRT
3iad: fA= YT wTed Y STt 3:

1. Tron(IT) sulphide / A1) TehZS
2. Copper(I) sulphide / PHIR (I) 9chigs

3. Sulphur dioxide / e SRS

4. Carbon monoxide / HTe nﬁsﬁwss

Correct Answer :-

« Copper(I) sulphide / PITR (1) THIZS

17) What is the number of moles of conc.HNOj; required to oxidise 0.75 moles of P4, molecules to
orthophosphoric acid, the other products being NO,(g) and water? / Py STQ'[Gﬁ ¥ 0.75 "JITFTGI'QIGﬁ G|
ATYTHTEPID 3 ¥, sifaRitpd B3 & T smazae Fifsd HNO, & UTHSSH Ft = T
B, §19 310 IJATE NO,y(fry) 3R &Te1 32

1. 15 moles / 15 UTH 3]
2. 10 moles / 10 UTH 3{U]
3. 5 moles /5 UTH 3]

4. 20 moles / 20 UTH 3]

Correct Answer :-
e 15 moles/ 15 UTH 3]

18) What would be the product obtained by the process of “reforming” when n-heptane is heated

(773K) in the presence of Cr,03? / SId Cr,0;3 1 IufRATA H, n- 88 (773K) P T ot wira gal
«FYR” DI UIH AT & GRT YT I<UTG FT §RIT?

1. Cyclohexene / BIEESIRENIE]
2. Cyclohexane / W%a@:[
3. Benzene / S¥oiI

4. Toluene / a?\’:‘[ﬁ

Correct Answer :-
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» Toluene / aﬂﬁ

19) The quinhydrone half cell is reversible to: / %IFE@T'T I Ja 3% fore ScpHuilg e

1. Hydroquinone/é’f’i’@ﬂﬂfﬁq
2. Quinol / f@Td

3. Quinone /=
4. H*/ H*

Correct Answer :-

20) The decreasing order of bond energy of halogens is: /%?ﬁﬂ:ﬁ P MTEY SHoIT BT Tedl HH gial

1. C|2> FZ >Br2>|2
2. Cl,< Bry <Fy<ly
3. Cly> Bry >Fy>l5

4. Fy> Cl, >Bry>l,

Correct Answer :-
. C|2> Br2 >F2>|2

21) The heat of neutralization of HF with NaOH is -68.6kJ/mol, much higher than the standard
value of -57.3kJ/mol. This is due to: / NaOH & TTY HF B SETHIHIBIUN S CHT, -68.6kJ/mol &, S
-57.3kJ/mol P TP HH A BTH! YD & | THBT PRI ¢:

1. Hydration of F- ion in aqueous solution and the process is exothermic / el [ded | F- ion &1 ST@dio
3R UshH, SWIETI 5

2. Hydration of Na™ ion in aqueous solution and the process is endothermic / STt f[ded | Na* ion BT

SIS 3R UhH, SHSATSIRN B |

3. Hydration of OH™ ion in aqueous solution and the process is exothermic / STt f[aea § OH- ion &1
SIS 3R UehH, STt 8|

4. HF behaves as strong acid / HF Udd] 3] Gl e WW %I

Correct Answer :-

» Hydration of F- ion in aqueous solution and the process is exothermic / STeid f[dea | F- ion &1 ST@dioH

IR UpH, SEN 2|
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22) The reagent which converts lactic acid to pyruvic acid is: / 98 GI'&IW, ot Afdes st ot
IS Ia® 3T B FUidNd $dT 6:

1. Fenton’s reagent /e e

2. Tollen’s reagent / elea 3B HSD

3. Bayer’s reagent / S3R 3HfYHHS

4. Grignard’s reagent/ﬁl"'I:ﬂT'sc ffHHHB

Correct Answer :-

”
3
g
1,
)

« Fenton’s reagent/\lb I

23) The half-life of the decomposition of a compound is 20 minutes. If the initial concentration of the
compound is doubled, the half-life period is reduced to 10 minutes, then the order of the reaction is: /

TS GI® & 3raae &1 sd-sfta 20 fire 31 afe At &1 yrRfre digor Qi o fear o,
Y 3rdf-shtae gesR 10 fFe ¥8 war 8, sififrar dT1 o 8:

1.15
2.2
3.1

4.0

Correct Answer :-

24) The standard EMF for the Daniel cell is 1.10V at 25 degree centigrade. If 0.1M ZnSO4 and
CuSO04 solutions are used in both the half cells at 25 degree centigrade, then the EMF of the cell

reaction is: /WW%WZS%WWWWWW 1.10V%I gfe
0.1M ZnS04 T& Cus04 faea=il &1 IuahT, 25 fE3f A R Y oref Il A fopar Sran 8, ot A«
ififsrar 1 fagad-are® 9 (STATH) BIM:

1.1.10V
2.-1.10V
3.0.11v
4.-0.11V

Correct Answer :-

o 1.10V
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The amine that gives N-nitrosoamine on treatment with HNO, is: / THIST < HNO, & 1Y SUAR

H TR N- TSI ITHTS &l &:

MH—FR

H.C——CH—CH,

2.
NR,
3.
NH,
4,

Correct Answer :-

MH—FR

26) The number of waves made by Bohr electron in its fourth orbit is: / ilﬂﬁf FETH TER sﬁaﬁ:r

& GRT TS TS A1) B HSA FIAt 3
1.5
2.4
3.2

4.1

Correct Answer :-

27) Identify the compound for which Kjeldahl’s method of estimation of nitrogen CANNOT be used.
/ a8 MRP ygaH, forae e Argeioq & e ot desTa fafy &1 swiwma 781 far =
| 37

1. Tertiary amines /W i)
2. Nitro compounds / 7‘|I$€;| qf®

3. Cyanides / HIIIgS
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4. Amides / Qqﬁg

Correct Answer :-

 Nitro compounds / :|I§E-A| qfiw

28) In cyclotrimetaphosphoric acid, the oxidation state of phosphorous is: /

UTSTAICTSACTH RIS 37 |, IWPIRY B STRIIBIT S[axIT Bl 3:

4. +5

Correct Answer :-

29) A compound ‘A’ has the molecular formula C,Cl;O0H. It reduces Fehling’s solution and

on oxidation gives a monocarboxylic acid. ‘A’ is also formed by the action of Cl, on ethanol.
The compound ‘A’ is: / U FIRIH ‘A’ BT TUIFAS A C,Cl;0H § 1 T8 BT & faera=T &t
AP HAT 8 3R STRIBU H1 W TH WHIGIaIaIiord S a1 3 | ‘A’ FATA R Cl, B
foran & g1 +ft FAififa ghar 31 it ‘A’ @:

1. Trichloroacetic acid / Zfl%fﬁ‘hﬁm STk
2. Trichloro ethanol / E’[’s’?ﬁ'ﬁﬁ gﬂﬂfa

3. Chloroform / FARIGIH

4. Chloral / IR

Correct Answer :-

« Chloral / AR

30) In which of the following species are all the bond lengths NOT equal? / Frafafea 9 9 o wizis

# a4t 9is, R a1E & 781 g o2
1. NH,"

2. SF,

3. SiCl,

4, XeF4

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2417

31) Kcl forms NaCl type of lattice. If the distance between K* and CI" is ‘x’ pm, then the edge
length of a unit cell is: / KCI, NaCl &R &T STa® 9141 3, dfe K+ 3R CI° & &g &1 g8t "X’ pm

8, 9l U SP1E A9 & DR B daTg oRi:

pm

i o

rm

b |

2.
3. 2x pm

4. 4x pm

Correct Answer :-

32) The crystalline substance on being heated gradually first forms a turbid liquid at constant T
and still at higher T turbidity completely disappears, this behaviour is a characteristic of

substance forming ./ ?ﬂ%—%ﬁ%nﬁaﬁw,mmﬁmﬁmTwwanﬁaﬁ
(cXfas fafds) s9mar @ 8ik fihr S=ar T R, snfawar gt ave & @i 81 9Tt 8, 98 agR, uerd
& T BT TS 0T ¢

1. Allotropic crystal / IREU! fehed

2. Liquid crystal / %d foeed

3. Isomorphous crystal / Wmmﬁ
4. Pseudo crystal | B fheed

Correct Answer :-

« Liquid crystal / &d feheed

33) The geometrical isomerism is exhibited by the oxime of which one of the following

compounds? / ST THTGUqaT, frafefad & 9 i 9iffie & siferw grR1 ughlRia 31 st

a2
1. Diethyl ketone/@lgqma HIcH
2. Formaldehyde /Wﬁ%?ﬁ_ﬁr

3. Acetone/QF‘ ¢ |
4, Benzaldehyde /ﬁ%@g—é

Correct Answer :-

« Benzaldehyde /éﬁﬁs‘m‘s
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Topic:- Mathematics

1) tﬂﬂ_l( COSX )=?

1+szinx

T X
4 2
1.
:rr+x
4 2
2.
x
2
3.
T X
2 2
4.

Correct Answer :-

il
4 2
2)
tan(l—r—x} - -
Letfi{x)=————, for X * — . Find the value which should be assigned to f at X =—, so thatitis
cot2x 4 4
i tan(i—r—x} )
continuous. /| HH wIT=T %Kiﬁﬁ'@f{x}= = &1 3H A &I AT &Y,
cot2x
ﬁWK=E W F i fuiia G s Tt afe o BEaw 8
1
2
1.
2.1
3.2
4.4

Correct Answer :-

bed |
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3) Find the solution of &, Lreosdy o | &L L0 _ g g ot A N

1-cos2x dx 1-coslx

l.tany+cotx=C
2.tanx—coty=C
3. tanx +coty=C

4.tany—cotx=C

Correct Answer :-

e tany—cotx=C

4)
If A and B are two independent events in a sample space, then P(4/ B ) equals to:/ AT A 3R B, '&

giiesl AT (@Fae TO%F) & gf Taa 9eIv &, dd P(4/ B ) FFa & e &:
. 1-PA/B)

1-P(A/B)

3.1-P(A/B)
4.1-P(A)

Correct Answer :-

5)
If the coefficient of x* in the expansion of (1 4+ x2)™is 10, thenn=? / A (1 + x2)" & TEET H=x* FT

o7 10 &, dd n=7
1.3
2.2
3.4

4.5

Correct Answer :-

6)
The value of 1200 4 {102 4 ;103 4 ... +1084g- j ;1014 ;102 4 4108 4 .. 4108 7 HA b
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1.8

Sx+4y Sx+4yv

7 If (x 4 iy)® = 4+ 51, then ? ) AWME(x+iy)3=4+5.dd

xy(xz—y2) xy(x?—y?) g
1.1
2.3
3.2

4.4

Correct Answer :-

8)

nin + 2)

nin+1)
W2

4.

Correct Answer :-
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9)
If[? i[?.:x] such that A= then oc?+ y=7 / Eﬁﬁ: —ﬁa] ST YRR & fib A=l dd o2+ fy="1

1.1

2.2

4.0

Correct Answer :-

10) The domain of the function v = .;—is: [ Teld v= ﬁ HT T&lT (518 &

JIx|-x viX
[0.00)
1.

p, el

3, b= 0)

(1,00)

Correct Answer :-

(_ oo, D:}

11)
Find the value of J.for which the volume of parallelepiped formed by the vectors { +Aj + k, j+ Ak and
Af + Kk is minimum. / ). &7 A AT ®, Torad e afdel § +4j + k. j+ Ak WAL + k gar’T
fAffd TATR Yeholh &1 I ~gAaH B

1
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1

V3

4.

Correct Answer :-

12)
The area lying in the first quadrant and bounded by the circle x? + v =4 and the line x =3 v is:/ TUH

TR A ARd Ud acd x? +yi =47 W@ x =43y ¥ UREd &7 &

wl A

=

m
4.6

Correct Answer :-

13 Iff:f (x)dx=4 andf;(S —f(x))dx=7.then fz_lf[xjdx is:/ afe

[*f @dx=awa [[(3—f (x))dx=7,7 [ f(x)dxt:
1.7
2.4
3.-5

4.5

Correct Answer :-

14) If [ f(x)dx =f(x) +C.then: / I [ Fx)dx =f(x) +C, ar
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1.f(x)=sinx
2.f(x)=x
3.f(x)=¢*

4.f(x)=aconstant/f(x)=qa7@-ma7

Correct Answer :-

15)
The mininmm valie of 64sec 8 + 27cosec @ when @ lies in (0, ZE) is: / 64sec @ + 27cosec @ T w=AdH

AT, 74 6, (D=;—‘)#%&1Fr%:

1. 250
2.4
3. 125

4.27

Correct Answer :-

16) Ifcos4x—14 ksinZxcos?x, thenk=? | A& cosdx = 1 + ksin®xcoslx, dd k=7

1.8

17
) If 4cos 1x +sin~lx =, thenx=" / A 4cos1x +sin~lx =n , dd x=

V3
2

b | =
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3.1

4.0

Correct Answer :-

V3
2
18)
1 1 2
LetA=|2 2 4] bea 3 x 3 matix. Let V= {(x. v, z)| x. v, z real and determinant A =0}. Then the
X ¥y Z
i 4, 32
dimension of V" as a real vector space is:/ HI=T & A= [2 2 4] Udh 3x3 3R #AfeFm) B
o e

A ool & V= {(x.v.2)|x v.z ddide Ud WRIR& A =0} Od dvdids & TAte
(e TUH) & ®T H V" &I A &
1.1
2.3
3.2

4.0

Correct Answer :-

19)

HIT &

1. 30°
2. 135°
3. 60°

4. 45°

Correct Answer :-
o 45°

20) in49 +2sin86 +sin 126="7
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4cos5%28sin 86
1.
, 4cos28sin 88

2eos28sin 88
3.

4co52285in48
4,

Correct Answer :-

4rps228 sin 88

21) In an ellipse, the distance between the foci is 8 and the distance between the directrices is 25.

Then the length of major axis is: /W?ﬂ'ﬂqc_vlﬁ, fpur-b=i (Cﬁ-ﬁﬁ) %?rrw;'ﬁ 8 qaﬁrq?neﬁ
ETRfFE) & 7 gl 25 81 99 YA 3f&l Pt aIGTS 8:

2042
4042
3042

e
4, Ty

Correct Answer :-

22) A line passes through (2, 2) and is perpendicular to the line 3x +y = 3. Find its y-intercept. / T

I (2,2) Q o 8 3N @ 3x + y = 3 % TFIdd 8 | TP y-3id: TS ATd B3|

| o

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

23) The n'? term of the series 6+66+666+ is: / AOT 6+66+666+ HTndlUg

3

6
5(10” .y
1.
2.5x 11™!
3. 6x9™!

4.6x 10!

Correct Answer :-

24) A and B throw a dice each. The probability that A’s throw is not greater than B’s throw is: / A
3R B, AT TS U1 Bl 3 | SD! 1 WIS T © fh A §RT B & ¢ U &1 A, B §RT B
Y 9T & A A S 18t

1

25) Words are formed with the letter of the word TRIANGLE. The ratio of the words starting with
T and ending with E to the words ending with G is: / RTeq TRIANGLE F 3R T W5 CEILEILY %'I
T Y= Td E A 3d 1 a1 Xegl BT G A 3d 81 a1 el & 1Y U 8-
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1. 8:3
2. 7:1
3.3:8

4.1:7

Correct Answer :-

26) The distance between the planes 2x-3y+6z = 5 and 6x-9y+18z +20 = 0 is: / 2x-3y+6z = 5 3R 6x-

9y+18z +20 = 0 THAA! & a1 BT g1 8:

27) The ratio in which the line 3x + 4y + 2 = 0 divides the distance between 3x + 4y + 5= 0 and 3x +
4y -5=0is: /T8 AJUTd T &, PrAH @I 3x + 4y +2=0,3x +dy +5=0 3R 3x +4y-5-0F
o Ft gt 7 faurioa st 2:
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28) There are 3 sections in a question paper each containing 5 questions. A candidate has to solve
any 5 questions choosing at least one question from each section. Then the number of ways he can
make his choice is: / TP UY TA & 3 ATUTT & T UAP U | 5 UY &1 TP SWHIGIR Bl TP
YT A FH A FH TS UY TADR T 5 U4 I 60 BT ¢ | O S aRIdl St W@ 1 g,

o 98 gt uRic &1 99 PR g dT 8:

1. 1050

2. 2250

3. 1850

4. 1300

Correct Answer :-

o 2250

29)

The equation of line passing through A(-1,2,3) and parallel to
x+2 2y—7

(-1,2,3) & TERA arelt vd

6 @ THIAR L@l Hl THIHT b:

2 3 —6
2.
x+1 22—y =g
2 3 6
3.
x+1 y—2 =z—3
2 6 b
4,

30) The equation of normal to the curve y = sin x at (0, 0) is: / (0, 0) UX dsh y = sin x %ﬁnz UATHT

'ﬂ'lﬂW%:

l.x-y=0

2.x+2y=0
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3.y=2

4.x+y=0

Correct Answer :-

(1+x}?a:mw#,x3

7
31) In the expansion (1+x)7, the ratio of the coefficients of x3 and X4 is: /

T4 x* & TUID! BT U 8:
1.3:4
2.2:3
3.2:1

4, 1:1

Correct Answer :-

32) The 5™ term of the GP is 2. The product of the first 9 terms is: /'{[Uﬁc_\ﬂ' aﬁ (Trﬁ'lﬂ) Gl SHTtI_c{ 2
21 Y 9 U T UH &:

1. 512
2.32
3.18

4. 1024

Correct Answer :-
e 512

33) A family of 4 brothers and 3 sisters is to be arranged for a group photo in a row. In how many
ways they can be seated, if 3 sisters always sit together. / 4 '3-"3113[ Td3 m & Udh ufarR &t Udh
TYE R F fore ue ufe A sqafRud far wirr 81 5% foran adie) & 9oman s gar 8, afe 3
95 U TS Y dodt 3

1. 720
2. 5040
3. 4320

4. 40320

Correct Answer :-
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34) [F =
If J5 Fx) dx = 7(5 )3 - 7( -2)3, then f (x) is equal to: / TS Jo, () dx

=7(5)3-7(-2)}
a9 £ (x) I P RER ©:

1.7x3

2. 3x°

3. 3x?

4.21x%

Correct Answer :-
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